
SAP ABAP table /BEV1/TSABER {Application Area}

_BEV1_TSABER

MANDT [CLNT (3)]

ANWBER [CHAR (10)]

PAFKT [CHAR (2)]

PAFKTOWN [CHAR (2)]

PAFKTOHR [CHAR (2)]

PAFKTDHR [CHAR (2)]

KTAAR [CHAR (4)]

KTASTE [CHAR (1)]

KTASTR [CHAR (1)]

KTASTN [CHAR (1)]

TDOBJECT [CHAR (10)]

TDID [CHAR (4)]

TDOBJECT1 [CHAR (10)]

TDID1 [CHAR (4)]

TDOBJECT2 [CHAR (10)]

TDID2 [CHAR (4)]

VARI  [CHAR (10)]

_BEV1_TSSVARI

MANDT [CLNT (3)]

VARI [CHAR (10)]

 /BEV1/TSABER-VARI = /BEV1/TSSVARI-VARI 

0..N

1

T000

MANDT [CLNT (3)]

 /BEV1/TSABER-MANDT = T000-MANDT 

0..N

0..N TPFK

MANDT [CLNT (3)]

PAFKT [CHAR (2)]

 /BEV1/TSABER-PAFKT = TPFK-PAFKT 

0..N
0..N

 /BEV1/TSABER-PAFKTDHR = TPFK-PAFKT 

0..N

0..N

 /BEV1/TSABER-PAFKTOHR = TPFK-PAFKT 0..N

0..N
 /BEV1/TSABER-PAFKTOWN = TPFK-PAFKT 

0..N

0..N TTXID

TDOBJECT [CHAR (10)]

TDID [CHAR (4)]

 /BEV1/TSABER-TDID = TTXID-TDID 

0..N0..N  /BEV1/TSABER-TDID1 = TTXID-TDID 
0..N

0..N  /BEV1/TSABER-TDID2 = TTXID-TDID 0..N0..N

TTXOB

TDOBJECT [CHAR (10)]

 /BEV1/TSABER-TDOBJECT = TTXOB-TDOBJECT 

0..N

0..N

 /BEV1/TSABER-TDOBJECT1 = TTXOB-TDOBJECT 

0..N

0..N

 /BEV1/TSABER-TDOBJECT2 = TTXOB-TDOBJECT 
0..N

0..N

TVC3

MANDT [CLNT (3)]

KTAST [CHAR (1)]

 /BEV1/TSABER-KTASTE = TVC3-KTAST 

0..N

0..N

 /BEV1/TSABER-KTASTN = TVC3-KTAST 

0..N

0..N

 /BEV1/TSABER-KTASTR = TVC3-KTAST 0..N

0..N

TVKK

MANDT [CLNT (3)]

KTAAR [CHAR (4)]

 /BEV1/TSABER-KTAAR = TVKK-KTAAR 

0..N

0..N


